

$3 + 9 \times 8 = \underline{\quad}$

$1 + 6 \times 6 = \underline{\quad}$

$9 + 4 \times 8 = \underline{\quad}$

$9 \times 2 + 6 = \underline{\quad}$

$5 \times 5 - 5 = \underline{\quad}$

$1 \times 9 + 9 = \underline{\quad}$

$64 - 2 \times 3 = \underline{\quad}$

$3 \times 6 - 2 = \underline{\quad}$

$32 - 4 \times 3 = \underline{\quad}$

$27 - 2 \times 9 = \underline{\quad}$

$7 \times 8 - 9 = \underline{\quad}$

$5 \times 6 + 9 = \underline{\quad}$

$8 \times 9 + 9 = \underline{\quad}$

$74 - 2 \times 2 = \underline{\quad}$

$2 + 6 \times 4 = \underline{\quad}$

$3 + 7 \times 4 = \underline{\quad}$



$$3 + 9 \times 8 = \underline{\underline{75}}$$

$$1 + 6 \times 6 = \underline{\underline{37}}$$

$$9 + 4 \times 8 = \underline{\underline{41}}$$

$$9 \times 2 + 6 = \underline{\underline{24}}$$

$$5 \times 5 - 5 = \underline{\underline{20}}$$

$$1 \times 9 + 9 = \underline{\underline{18}}$$

$$64 - 2 \times 3 = \underline{\underline{58}}$$

$$3 \times 6 - 2 = \underline{\underline{16}}$$

$$32 - 4 \times 3 = \underline{\underline{20}}$$

$$27 - 2 \times 9 = \underline{\underline{9}}$$

$$7 \times 8 - 9 = \underline{\underline{47}}$$

$$5 \times 6 + 9 = \underline{\underline{39}}$$

$$8 \times 9 + 9 = \underline{\underline{81}}$$

$$74 - 2 \times 2 = \underline{\underline{70}}$$

$$2 + 6 \times 4 = \underline{\underline{26}}$$

$$3 + 7 \times 4 = \underline{\underline{31}}$$





$2 \times 1 + 1 = \underline{\quad}$

$5 \times 1 - 2 = \underline{\quad}$

$3 \times 9 + 5 = \underline{\quad}$

$3 + 9 \times 9 = \underline{\quad}$

$28 - 2 \times 1 = \underline{\quad}$

$4 + 1 \times 3 = \underline{\quad}$

$22 - 2 \times 3 = \underline{\quad}$

$4 + 7 \times 6 = \underline{\quad}$

$3 \times 6 - 7 = \underline{\quad}$

$23 - 6 \times 2 = \underline{\quad}$

$3 \times 8 + 2 = \underline{\quad}$

$9 \times 1 - 7 = \underline{\quad}$

$55 - 2 \times 4 = \underline{\quad}$

$6 \times 8 + 2 = \underline{\quad}$

$41 - 9 \times 2 = \underline{\quad}$

$4 + 2 \times 6 = \underline{\quad}$



$$2 \times 1 + 1 = \underline{\text{3}}$$

$$5 \times 1 - 2 = \underline{\text{3}}$$

$$3 \times 9 + 5 = \underline{\text{32}}$$

$$3 + 9 \times 9 = \underline{\text{84}}$$

$$28 - 2 \times 1 = \underline{\text{26}}$$

$$4 + 1 \times 3 = \underline{\text{7}}$$

$$22 - 2 \times 3 = \underline{\text{16}}$$

$$4 + 7 \times 6 = \underline{\text{46}}$$

$$3 \times 6 - 7 = \underline{\text{11}}$$

$$23 - 6 \times 2 = \underline{\text{11}}$$

$$3 \times 8 + 2 = \underline{\text{26}}$$

$$9 \times 1 - 7 = \underline{\text{2}}$$

$$55 - 2 \times 4 = \underline{\text{47}}$$

$$6 \times 8 + 2 = \underline{\text{50}}$$

$$41 - 9 \times 2 = \underline{\text{23}}$$

$$4 + 2 \times 6 = \underline{\text{16}}$$



$$(6 + 4) \times 5 = \underline{\quad}$$

$$(8 + 6) \times 9 = \underline{\quad}$$

$$28 - (2 \times 7) = \underline{\quad}$$

$$(8 + 9) \times 8 = \underline{\quad}$$

$$13 - (2 \times 6) = \underline{\quad}$$

$$25 - (2 \times 4) = \underline{\quad}$$

$$(6 + 2) \times 8 = \underline{\quad}$$

$$19 - (2 \times 3) = \underline{\quad}$$

$$54 - (2 \times 1) = \underline{\quad}$$

$$2 \times (7 + 9) = \underline{\quad}$$

$$1 \times (1 + 5) = \underline{\quad}$$

$$(9 + 4) \times 8 = \underline{\quad}$$

$$(8 + 4) \times 1 = \underline{\quad}$$

$$(9 + 7) \times 8 = \underline{\quad}$$

$$3 \times (3 + 1) = \underline{\quad}$$

$$7 \times (6 + 4) = \underline{\quad}$$



$$(6 + 4) \times 5 = \underline{50}$$

$$(8 + 6) \times 9 = \underline{126}$$

$$28 - (2 \times 7) = \underline{14}$$

$$(8 + 9) \times 8 = \underline{136}$$

$$13 - (2 \times 6) = \underline{1}$$

$$25 - (2 \times 4) = \underline{17}$$

$$(6 + 2) \times 8 = \underline{64}$$

$$19 - (2 \times 3) = \underline{13}$$

$$54 - (2 \times 1) = \underline{52}$$

$$2 \times (7 + 9) = \underline{32}$$

$$1 \times (1 + 5) = \underline{6}$$

$$(9 + 4) \times 8 = \underline{104}$$

$$(8 + 4) \times 1 = \underline{12}$$

$$(9 + 7) \times 8 = \underline{128}$$

$$3 \times (3 + 1) = \underline{12}$$

$$7 \times (6 + 4) = \underline{70}$$



$$(6 \times 5) - 1 = \underline{\hspace{2cm}}$$

$$4 + (4 \times 9) = \underline{\hspace{2cm}}$$

$$4 + (3 \times 8) = \underline{\hspace{2cm}}$$

$$(5 \times 6) + 3 = \underline{\hspace{2cm}}$$

$$26 - (2 \times 4) = \underline{\hspace{2cm}}$$

$$2 + (3 \times 7) = \underline{\hspace{2cm}}$$

$$6 + (6 \times 9) = \underline{\hspace{2cm}}$$

$$(6 \times 5) - 6 = \underline{\hspace{2cm}}$$

$$(9 \times 2) - 5 = \underline{\hspace{2cm}}$$

$$(3 \times 5) + 1 = \underline{\hspace{2cm}}$$

$$4 + (9 \times 4) = \underline{\hspace{2cm}}$$

$$(9 \times 3) - 5 = \underline{\hspace{2cm}}$$

$$74 - (2 \times 5) = \underline{\hspace{2cm}}$$

$$46 - (2 \times 6) = \underline{\hspace{2cm}}$$

$$(4 \times 6) + 3 = \underline{\hspace{2cm}}$$

$$96 - (2 \times 7) = \underline{\hspace{2cm}}$$





$$(6 \times 5) - 1 = \underline{29}$$

$$4 + (4 \times 9) = \underline{40}$$

$$4 + (3 \times 8) = \underline{28}$$

$$(5 \times 6) + 3 = \underline{33}$$

$$26 - (2 \times 4) = \underline{18}$$

$$2 + (3 \times 7) = \underline{23}$$

$$6 + (6 \times 9) = \underline{60}$$

$$(6 \times 5) - 6 = \underline{24}$$

$$(9 \times 2) - 5 = \underline{13}$$

$$(3 \times 5) + 1 = \underline{16}$$

$$4 + (9 \times 4) = \underline{40}$$

$$(9 \times 3) - 5 = \underline{22}$$

$$74 - (2 \times 5) = \underline{64}$$

$$46 - (2 \times 6) = \underline{34}$$

$$(4 \times 6) + 3 = \underline{27}$$

$$96 - (2 \times 7) = \underline{82}$$